

**A HARMONIC AND HERON MEAN INEQUALITIES
 FOR ARGUMENTS IN DIFFERENT INTERVALS**

VIMALA T¹, K M NAGARAJA² AND SAMPATH KUMAR R^{*3}

¹Department of Mathematics,
 School of Engineering and Technology, Jain Deemed To Be University,
 Kanakapura Main Road, Bangalore-562112, Karnataka, India.
 E-mail: vimala1984@yahoo.co.in

²Department of Mathematics,
 J.S.S. Academy of Technical Education,
 Uttarahalli-Kengeri Main Road, Bengaluru-60, Karnataka India.
 E-mail: nagkmn@gmail.com

³Department of Mathematics,
 R N S Institute of Technology, Uttarahalli-Kengeri Main Road,
 R R Nagar Post, Bengaluru- 98. Karnataka, India.
 E-mail: r.sampathkumar1967@gmail.com

(Received On: 26-06-19; Revised & Accepted On: 26-07-19)

ABSTRACT

The Mathematical verification of inequalities for Harmonic mean $H < H' < H^c$ and Heron mean $H_e < H'_e < H^c_e$ for two positive arguments respectively in $a, b \in (1, 3/2]$, $a', b' \in (3/2, 2]$ and $a^c, b^c \in (3, \infty)$ are discussed.

1. INTRODUCTION

The Hand book of Means and their Inequalities, by Bullen [1], gave the tremendous work on Mathematical means and the corresponding inequalities involving huge number of means. The authors in [2, 3, 4] discussed about the relations between the well-known means and series. The generalization of the means is discussed in [5, 6, 18, 19]. Relevant to this paper the authors in [12-16] established the good number of inequalities, double inequalities, introduces new means, studied homogenous functions as application, inequalities are obtained. The set of arbitrary non negative real numbers $y \in (0, 1/2]$ and $y' = (1 - y) \in [1/2, 1)$ is represented as a function in the form given by [1].

$$f(y) = \begin{cases} y, & \text{for } 0 < y \leq \frac{1}{2} \\ (1 - y), & \text{for } \frac{1}{2} \leq y < 1 \end{cases}$$

In the discussion of the famous inequalities due to Ky Fan, the following are the standard notations in n variables.

$$\begin{aligned} A_n &= A_n(y_1, y_2, \dots, y_n) & A'_n &= A'_n(1 - y_1, 1 - y_2, \dots, 1 - y_n) \\ G_n &= G_n(y_1, y_2, \dots, y_n) & G'_n &= G'_n(1 - y_1, 1 - y_2, \dots, 1 - y_n) \\ H_n &= H_n(y_1, y_2, \dots, y_n) & H'_n &= H'_n(1 - y_1, 1 - y_2, \dots, 1 - y_n) \end{aligned}$$

has been introduced and later on strengthened by several authors namely Rooin et al. , Sandoor *et al.* and others [20-28]. This work motivates us to develop two double inequalities in this paper. The following are the few definitions of means from the above survey papers.

For given n arbitrary non negative real numbers $y_1, y_2, \dots, y_n \in (0, 1/2]$ unweighted Arithmetic mean, Geometric mean and Harmonic means are represented respectively by A_n, G_n and H_n are given by

$$A_n = \frac{1}{n} \sum_{i=1}^n y_i \quad G_n = \prod_{i=1}^n \sqrt[n]{y_i} \quad H_n = \frac{n}{\sum_{i=1}^n \frac{1}{y_i}}$$

Corresponding Author: Sampath Kumar R^{*3}

³Department of Mathematics, R N S Institute of Technology, Uttarahalli-Kengeri Main Road,
 R R Nagar Post, Bengaluru- 98. Karnataka, India.

Also, the Arithmetic, Geometric and Harmonic means of the set of elements $1 - y_1, 1 - y_2, \dots \dots 1 - y_n$. Represented by A'_n, G'_n and H'_n are given by;

$$A'_n = \frac{1}{n} \sum_{i=1}^n 1 - y_i \quad G'_n = \prod_{i=1}^n \sqrt[n]{1 - y_i} \quad H'_n = \frac{n}{\sum_{i=1}^n \frac{1}{1 - y_i}}$$

It is of main importance to consider an interval to define index and conjugate index sets. Such a consideration can be methodically deduced starting from the complete set of reals. Let R be the set of index numbers which is nothing but the set of real numbers. Let $a \in R^+, a \neq 1$, the conjugate index of a is denoted by a^c and is defined in [1] as $a^c = \frac{a}{a-1}$ and $b^c = \frac{b}{b-1}$. It is clear that for $a = 1, b = 1$, a^c, b^c are not defined so we study for $a, b \in R^+ - (1)$. Further for $a, b \in (0, 1)$, a^c and b^c are negative and the mean definition does not hold. Therefore, we shall consider $a, b \in (1, \infty)$.

Recall some definitions and propositions which are essential to develop this paper.

Definition 1.1: [1] For any $a, b \in (1, \infty)$, then $a^c = \frac{a}{a-1}$ and $b^c = \frac{b}{b-1}$ are the conjugates of a and b .

Definition 1.2: [1] For two real numbers $a, b \in (1, \infty)$, then Harmonic mean and Heron means are respectively given by $H = \frac{2ab}{a+b}$ and $H_e = \frac{a+\sqrt{ab}+b}{3}$.

Definition 1.3: The set of arbitrary non negative real numbers $y \in (1, 3/2]$ and $y' = (3 - y) \in [3/2, 2)$ is represented as a function in the form given by;

$$f(y) = \begin{cases} y & 1 < y \leq \frac{3}{2} \\ (3 - y) & \frac{3}{2} \leq y < 2 \end{cases}$$

Proposition 1.1: Let $a_i \in R^+ - (0, 1]$ and $a_i^c = \frac{a_i}{a_i-1}$ is conjugate of a_i , then

- (i) $(a_i^c)^c = a_i$
- (ii) $a_i + a_i^c = a_i \cdot a_i^c$
- (iii) if $a_i \in (1, \infty)$ then $a_i^c \in (1, \infty)$

Proposition 1.2: Let $a_i \in (1, 2]$ and the conjugate of $a_i^c = \frac{a_i}{a_i-1}$, then

- (i) $a_i > a_i^c$ if $a_i > 2$
- (ii) $a_i < a_i^c$ if $a_i < 2$
- (iii) $a_i = a_i^c$ if $a_i = 2$

2. MAIN RESULTS

In this section, the inequalities for Harmonic Mean and Heron Mean for the two arguments in $a, b \in (1, 3/2]$, $a', b' \in (3/2, 2]$ and $a^c, b^c \in (3, \infty)$ are established.

Theorem 2.1: The Harmonic mean for the arguments in $a, b \in (1, 3/2]$, $a', b' \in (3/2, 2]$ and $a^c, b^c \in (3, \infty)$ are respectively denoted by $H \leq H' \leq H^c$ holds.

Proof: Let the Harmonic mean for two arguments

$$H = \frac{2ab}{a+b} \text{ for } a, b \in (1, 3/2]$$

$$H' = \frac{2a'b'}{a'+b'} \text{ for } a', b' \in (3/2, 2], \quad a' = 3 - a, \quad b' = 3 - b, \text{ then}$$

$$H' = \frac{2(3-a)(3-b)}{3-a+3-b}$$

and

$$H^c = \frac{2a^c b^c}{a^c + b^c} \text{ for } a^c, b^c \in (3, \infty), \quad a = \frac{a}{a-1}, \quad b = \frac{b}{b-1}$$

$$H^c = \frac{2 \frac{a}{a-1} \frac{b}{b-1}}{\frac{a}{a-1} + \frac{b}{b-1}} = \frac{2ab}{2ab - a - b}$$

Now consider $H - H' = \frac{2ab}{a+b} - \frac{2(3-a)(3-b)}{3-a+3-b}$

$$H - H' = \frac{2}{(a+b)(6-a-b)} [ab(6-a-b) - (3-a)(3-b)(a+b)] \tag{2.1}$$

Let $\delta = ab(6-a-b) - (3-a)(3-b)(a+b)$ which simplifies as follows
 $\delta = 6ab - a^2b - ab^2 - 9a - 9b + 3ab + 3b^2 + 3a^2 + 3ab - a^2b - ab^2$

$$\delta = 3a^2 + 3b^2 + 12ab - 9a - 9b - 2a^2b - 2ab^2$$

$$\delta = 3(a+b)^2 + 6ab - 9(a+b) - 2ab(a+b)$$

$$\delta = 12A^2 + 6G^2 - 18A - 4AG^2$$

$$\delta = 2(6A^2 + 3G^2 - 9A - 2AG^2), \text{ since } = \frac{a+b}{2}, G = \sqrt{ab}, G^2 = AH$$

$$\delta = 2(6A^2 + 3AH - 9A - 2A^2H)$$

$$\delta = 2[2A^2(3-H) + 3A(H-3)]$$

$$\delta = 2(3-H)A(2A^2 - 3A)$$

$$\delta = 2(3-H)A(2A-3)$$

Therefore, from eqn (2.1) $H - H' = \frac{4(3-H)A(2A-3)}{(a+b)(6-a-b)}$

Thus $H - H' = \frac{4(3-H)A(2A-3)}{(a+b)(6-a-b)} \leq 0$, since $(2A-3) \leq 0$.

This proves that $H - H' \leq 0$.

Again consider $H' - H^c = \frac{2(3-a)(3-b)}{3-a+3-b} - \frac{2ab}{2ab-a-b}$ on simplify leads to

$$H' - H^c = 2 \left[\frac{(3-a)(3-b)(2ab-a-b) - ab(6-a-b)}{(6-a-b)(2ab-a-b)} \right] \tag{2.2}$$

Let $\tau = (3-a)(3-b)(2ab-a-b) - ab(6-a-b)$ which simplifies as follows;

$$\tau = 18ab - 9a - 9b - 6ab^2 + 3ab + 3b^2 - 6a^2b + 3a^2 + 3ab + 2a^2b^2 - a^2b - ab^2 - 6ab + a^2b + ab^2$$

$$\tau = 18ab - 9(a+b) - 6ab(a+b) + 3(a^2 + b^2) + 2a^2b^2$$

$$\tau = 12ab - 9(a+b) - 6ab(a+b) + 3(a^2 + b^2 + 2ab) + 2a^2b^2$$

$$\tau = 12G^2 - 18A - 6.G^2.2A + 3(a+b)^2 + 2G^4$$

$$\tau = 2A(6H - 9 - 6AH + 6A + AH^2)$$

$$\tau = 2A[2H(3-2A) + AH(H-2) + 3(2A-3)]$$

$$\tau = 2A[4H(3/2-A) + AH(H-2) + 6(A-3/2)]$$

$$\tau = 2A[(3/2-A)(4H-6) + AH(H-2)], \text{ since } (2H-3) \leq 0 \text{ and } (H-2) \leq 0$$

$$\tau = 2A[(3/2-A)(4H-6) + AH(H-2)] < 0.$$

Therefore from eqn (2.2) $H' - H^c = 2 \left[\frac{(3-a)(3-b)(2ab-a-b) - ab(6-a-b)}{(6-a-b)(2ab-a-b)} \right] \leq 0$

This proves that $H' - H^c \leq 0$

Hence the proof of the inequality $H \leq H' \leq H^c$ of theorem 2.1 completes.

Theorem 2.2: The Heron mean for the arguments in $a, b \in (1, 3/2]$, $a', b' \in (3/2, 2]$ and $a^c, b^c \in (3, \infty)$ are respectively denoted by H_e, H'_e, H_e^c , then the inequality, then $H_e \leq H'_e \leq H_e^c$ holds.

Proof: Let the Heron mean for two arguments

$$H_e = \frac{a + \sqrt{ab} + b}{3} \text{ for } a, b \in \left(1, \frac{3}{2}\right]$$

$$H'_e = \frac{a' + \sqrt{a'b'} + b'}{3} \text{ for } a', b' \in \left(\frac{3}{2}, 2\right], a' = 3 - a, b' = 3 - b$$

and

$$H_e^c = \frac{a^c + \sqrt{a^c b^c} + b^c}{3} \text{ for } a^c, b^c \in (3, \infty), a^c = \frac{a}{a-1}, b^c = \frac{b}{b-1}$$

Now consider $H_e - H'_e = \frac{a + \sqrt{ab} + b}{3} - \frac{a' + \sqrt{a'b'} + b'}{3}$

$$= \frac{a + \sqrt{ab} + b}{3} - \frac{(3 - a) + \sqrt{(3 - a)(3 - b)} + 3 - b}{3}$$

$$= \frac{a + \sqrt{ab} + b}{3} - \frac{(6 - a - b) + \sqrt{(3 - a)(3 - b)}}{3}$$

$$= \frac{1}{3} [a + \sqrt{ab} + b - 6 + a + b - \sqrt{9 - 3b - 3a + ab}]$$

$$= \frac{1}{3} [4A + G - 6 - \sqrt{9 - 6A + G^2}] \tag{2.3}$$

Let $4A + G - 6 < \sqrt{9 - 6A + G^2}$ squaring on both sides gives

$$(4A + G - 6)^2 < 9 - 6A + G^2 \text{ which is equivalent to}$$

$$16A^2 + G^2 + 8AG + 36 - 48A - 12G < 9 - 6A + G^2 \text{ on simplifying further gives}$$

$$16A^2 - 48A + 27 + 4G(2A - 3) + 6A < 0 \text{ or}$$

$$16A^2 - 42A + 27 + 4G(2A - 3) < 0$$

$$\text{Since } 16A^2 - 42A + 27 = (A - 3/2)(A - 9/8) < 0, 2A - 3 < 0$$

$$\text{Therefore from eqn (2.3) } H_e - H'_e = \frac{1}{3} [4A + G - 6 - \sqrt{9 - 6A + G^2}] < 0$$

Thus $H_e - H'_e < 0$

Again consider $H'_e - H_e^c = \frac{a' + \sqrt{a'b'} + b'}{3} - \frac{a^c + \sqrt{a^c b^c} + b^c}{3}$

$$= \frac{1}{3} \left[6 - a - b + \sqrt{(3 - a)(3 - b)} - \frac{a}{a-1} - \sqrt{\frac{ab}{(a-1)(b-1)}} - \frac{b}{b-1} \right] \tag{2.4}$$

Let us assume $6 - a - b - \frac{a}{a-1} - \frac{b}{b-1} < 0$ implies

$$6 - a - b < \frac{a}{a-1} + \frac{b}{b-1}$$

$$(6 - a - b)(a - 1)(b - 1) < a(b - 1) + b(a - 1)$$

$$6ab - 6a - 6b + 6 + a^2 + b^2 - a^2b - ab^2 < 0$$

$$6a(b - 1) + 6(1 - b) + a^2(1 - b) + b^2(1 - a) < 0$$

$$b^2(1 - a) + (b - 1)[6a - 6 - a^2] < 0,$$

$$b^2(1 - a) + (1 - b)[a^2 - 6a + 6] < 0 \text{ since } 1 - a < 0, 1 - b < 0, [a^2 - 6a + 6] > 0$$

Hence the assumption $6 - a - b - \frac{a}{a-1} - \frac{b}{b-1} < 0$. is true

Similarly consider $\sqrt{(3-a)(3-b)} - \sqrt{\frac{ab}{(a-1)(b-1)}} < 0$

Squaring on both the sides gives $(3-a)(3-b) < \frac{ab}{(a-1)(b-1)}$

$$(3-a)(3-b)(a-1)(b-1) < ab$$

$$15ab - 12(a+b) + 9 - 4a^2b - 4ab^2 + 3(a^2 + b^2) + a^2b^2 < 0$$

$$9ab - 12(a+b) + 9 - 4ab(a+b) + 3(a+b)^2 + a^2b^2 < 0$$

$$9G^2 - 24A + 9 - 8G^2A + 12A^2 + G^4 < 0$$

$$9AH - 24A + 9 - 8A^2H + 4A^2 + A^2H^2 < 0$$

$$9AH - 12A - 12A + 9 - 4A^2H - 4A^2H + 4A^2 + A^2H^2 < 0$$

$$3A(3H-4) + 3(3-4A) + A^2H(H-4) + 4A^2(1-H) < 0$$

Since $(3H-4) < 0$, $(3-4A) < 0$, $(H-4) < 0$, $(1-H) < 0$

Hence our assumption $\sqrt{(3-a)(3-b)} - \sqrt{\frac{ab}{(a-1)(b-1)}} < 0$ is true

Thus eqn (2.4) $H'_e - H_e^c < 0$

Hence the proof of the inequality $H_e \leq H'_e \leq H_e^c$ of theorem 2.2 completes.

ACKNOWLEDGEMENT

The authors thankful to the referee for their valuable suggestions.

REFERENCES

1. P. S. Bullen, Hand book of Means and Their Inequalities, Kluwer Academic Publishers, Dordrecht, 2003.
2. Lakshmi Janardhana. R. C, K. M. Nagaraja and Narasimhan. G, A note on G –Complementary to Heron Mean, International Journal of Research and Analytical Reviews, 5(3), (2018), 369-373.
3. V. Loksha and K. M. Nagaraja, Relation between series and important means, Advances in Theoretical and Applied Mathematics, 2(1), (2007), 31- 36.
4. V. Loksha, Padmanabhan. S, K. M. Nagaraja and Y. Simsek, Relation between Greek Means and Various means, General Mathematics, 17(3), (2009), 3-13.
5. V. Loksha, Zhi-Hua Zhang and K. M. Nagaraja, Gnan mean for two variables, Far East Journal of Applied Mathematics, 31(2), (2008), 263 - 272.
6. V. Loksha, S. Padmanabhan, K. M. Nagaraja and Zhi-Hua Zhang, Gnan mean and dual for n variables, International Journal of pure and applied mathematics, 72(1), ((2011), 1-10.
7. V. Loksha, Naveen Kumar B, K. M. Nagaraja, Abdelmejid Bayad and M Saraj, New Means and its properties, Proc. of Jangjeon Mathematical society, 14(3), (2010) (South Korea), 243-254.
8. V. Loksha, K. M. Nagaraja, Naveen Kumar. B and S. Padmanabhan, Extension of Homogeneous Function, Tamsui Oxford Journal of Mathematical Sciences, 26(4), (2010), 443-450.
9. V. Loksha, K. M. Nagaraja and Y. Simsek, New Inequalities on the homogeneous functions, J. Indone. Math. Soc., 15(1), (2009), 49-59.
10. K. M. Nagaraja, V. Loksha and S. Padmanabhan, A Simple Proof on strengthening and Extension of Inequalities, Advanced Studies in Contemporary Mathematics, 17(1), (2008), 97- 103.
11. K. M. Nagaraja, Murali K, and Lakshmi Janardhana R C, Improvement of Harmonic and Contra Harmonic Mean Inequality Chain, Ijpm., 114(4), (2017), 771-776.
12. K. M. Nagaraja, P. S. K. Reddy and Sudhir kumar sahu, Generalization of alpha- Centroidal Mean and its Dual, Iranian Journal of Mathematical Sciences and Informatics, 8(2), (2013), 39-47.
13. K. M. Nagaraja and P.S.K.Reddy, alpha-Centroidal mean and its dual, Proceedings of the Jangjeon Math. Soc. 15(2), (2012), 163-170.

14. K. M. Nagaraja and P. S. K. Reddy, A Note on power mean and generalized contra-harmonic mean, *Scientia Magna*, 8(3), (2012), 60-62.
15. K.M. Nagaraja and P.S.K. Reddy, Double inequalities on means via quadrature formula, *Notes on Number Theory and Discrete Mathematics*. 18(1), (2012), 22-28.
16. K.M.Nagaraja, P.S.K.Reddy and Naveenkumar.B, Refinement of Inequality Involving Ratio of Means for Four Positive Arguments, *Bulletin of International Mathematical Virtual Institute*, 3, (2013), 135-138.
17. G Narasimhan, K. M. Nagaraja, R Sampath Kumar and K Murali, Establishment of a new Inequality using extended Heinz type mean, *IOP Conf. Series: Journal of Physics:Conf.Series*, 1139 (2018) 012034, IOP Publishing.
18. R Sampath Kumar, K. M. Nagaraja and G Narasimhan, New Family of Heinz Type Means *International Journal of Pure and Applied Mathematics*, 118 (18), (2018), 3427-3433 .
19. Sandeep Kumar, V. Lokesha, U.K. Misra and K.M. Nagaraja, Power Type-Centroidal Mean and Its Dual, *Gen. Math. Notes*, 25(1), (2015), 33-42
20. J.Roojin, On Ky Fans inequality additive analogues, *Math. Ineq. and Appl.*, 6(4), (2003), 595- 604.
21. J. Roojin, On Ky Fans inequalities via convexity, *Int. J. Pure and Appl. Math.*, 9(1), article 23, (2008). <http://jipam.vu.edu.au/v9n1/367-07.pdf>.
22. J. Roojin, Ky Fans inequality with Binomial expansion, *Elem. Math.*, 60, (2005), 171-173.
23. J. Roojin and M. Hassni, Some new inequalities between important means and applications to Ky- Fan types inequalities, *Math. Ineq. and Appl.*, 10(3) (2007), 517-527.
24. J. Roojin and M. Hassni, Some new inequalities between important means and applications to Ky- Fan types inequalities, *Math. Ineq. and Appl.*, 10(3), (2007), 517-527.
25. J. Roojin, Some aspects of convex function and their application, *J. Ineq. Pure and Appl. Math.*, article 4, 2(1), (2001) <http://jipam.vu.edu.au/article.php?sid=120>.
26. J. Sandor, On the Identric and Logarithmic means, *Aequationes Math.*, 40, (1990), 261-270.
27. J. Sandor, On a inequality of Ky Fan, *Babes- Blyai Univ.*, Preprint 7,(1990), 29-34.
28. J. Sandor and T. Trif, A new refinement of the Ky Fan inequality, *Math.Inequal. Appl.* 2, (1999), 529-533.

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2019. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]